
ND-136 1 P.T.O.  

Seat No. :  _______________ 
  

ND-136 
December-2015 

M.A., Sem.-III 

502 : Economics 

(Growth and Development – II) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

1. ¾Ûæ¦øà, ïõÛ¾Û …¶Ûé ¤éøïõ¶ÛÛéÅÛÛéœ÷¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ÍÛ¾Û›ÛÈÛÛé. 14 
   …¬ÛÈÛÛ 

 ÜÈÛïõÛÍÛ¾ÛÛ¶Û þéùÉÛÛé¾ÛÛ× ¾Ûæ¦øà ÁõÛéïõÛ¨Û …Ü½Û•Û¾ÛÛé¶Ûà ›÷ÄÁõàýÛÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
 

2. ›Ûé¶Û ÁõÛé¼Ûà¶ÍÛé …Û¸ÛéÅÛ ÈÛèÜ±ù ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé.  14  

   …¬ÛÈÛÛ 

 ¤æøïõ¶ÛÛêµÛ ƒ 
 (a) ÍÛæ“¾ÛÍ©ÛÁõàýÛ …ÛýÛÛé›÷¶Û 
 (b) ÜÈÛïõÛÍÛ¾ÛÛ¶Û þéùÉÛÛé ¾ÛÛ¤éø¶Ûà ÈÛÅ¦Ù ¼Ûêïõ¶Ûà ¶ÛàÜ©Û 
 

3. ¤éøïõ¶ÛàïõÅÛ …¶Ûé Ü¼Û¶Û-¤éøï¶ÛàïõÅÛ÷ ¸ÛÜÁõÈÛ©ÛÙ¶Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 
   …¬ÛÈÛÛ 

 ÜÈÛïõÛÍÛ¾ÛÛ¶Û þéùÉÛÛé¾ÛÛ× …Û×©ÛÁõ¾ÛÛÇ”ÛÛïõàýÛ ÜÈÛïõÛÍÛ¶ÛÛ ¾ÛÐ«ÈÛ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 
 

4. •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ 14 
 (a) ÐéüÁõÛé¦ø-¦øÛé¾ÛÁõ¶Ûä× …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¾ÛÛé¦éøÅÛ 
 (b) ¾Ûà¦ø¶Ûä× …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¾ÛÛé¦éøÅÛ 
 (c) ÍÛÛéÅÛÛé¶Ûä× …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¾ÛÛé¦éøÅÛ 
 (dø) ïõÛÅ¦øÛéÁõ¶Ûä× …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¾ÛÛé¦éøÅÛ 
 (e) ÜÈÛïõÛÍÛ¾ÛÛ¶Û þéùÉÛÛé¾ÛÛ× WTO¶ÛÛé ºõÛÇÛé 
 (fõ) …ÛýÛÛé›÷¶Û¶Ûà ©ÛÛÜïÙõïõ©ÛÛ. 
 
5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛ× ›÷ÈÛÛ¼ÛÛé ¸ÛÍÛ×þù ïõÁõÛé : 14 

 (a) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù …¶Ûé ÜÈÛïõÛÍÛ¾ÛÛ× ïõÛé̂  ©ÛºõÛÈÛ©Û ¶Û¬Ûà. 
  (i) ”ÛÛé¤ä×ø  (ii) ÍÛÛ˜Ûä× 
  (iii) ”Û¼ÛÁõ ¶Û¬Ûà. (iv) ÈÛèÜ±ù¾ÛÛ× ÜÈÛïõÛÍÛ  

 (b) ÍÛäÈÛ¨ÛÙ ýÛä•Û¶ÛÛé ”ýÛÛÅÛ ___________ …é …Û¸ýÛÛé. 
  (i) ÐéüÁõÛé¦øø  (ii) ¦øÛñ¾ÛÁõ 
  (iii) ›Ûé¶Û Áéõ¼Ûà¶ÍÛ (iv) ÉÛä¾¸Ûà¤øÁõ 
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 (c) ›Ûé ÐéüÁõÛé¦ø ¾ÛÛé¦éøÅÛ¾ÛÛ× G = Gw > Gn ÐüÛéýÛ, ©ÛÛé ___________ 
  (i) ºæõ•ÛÛÈÛÛé ÐüÛéýÛ ™öé.ø (ii) ¾Û×þùà ÐüÛéýÛ ™öé. 
  (iii) ¸Ûæ̈ ÛÙ ÁõÛé›÷•ÛÛÁõà ÐüÛéýÛ ™öé. (iv) ÍÛ×̧ Ûæ̈ ÛÙ Š©¸ÛÛþù¶Û ÉÛÜî©Û ÈÛ¸ÛÁõÛÉÛ ¬ÛÛýÛ ™öé.  

 (d) ›Ûé ÈýÛÛ›÷þùÁõ …¶Ûé …ÛÈÛïõ Í©ÛÁõ ÈÛµÛÛÁéõ ÐüÛéýÛ ©ÛÛé ÉÛä× ¬ÛÛýÛ ™öé ? 
  (i) ¼Û˜Û©Û þùÁõ ÈÛµÛÛÁéõ ÐüÛéýÛ ™öé. (ii) ¼Û˜Û©Û þùÁõ ÉÛæ¶ýÛ ÐüÛéýÛ ™öé. 
  (iii) ¼Û˜Û©Û þùÁõ ¶Ûà˜ÛÛé ÐüÛéýÛ ™öé. (iv) ¼Û˜Û©Û þùÁõ Þô¨Û ÐüÛéýÛ ™öé.  

 (e) …Å¸ÛÜÈÛïõÜÍÛ©Û þéùÉÛÛé ¾ÛÛ¤éø ÁõÛéÅÛá•Û ¸ÅÛÛ¶Û __________ …é ÍÛæ̃ ÛÈýÛä× Ðü©Ûä×.  
  (i) ¦ø¼ÛÅýÛä.…é. ÅÛéÈÛàÍÛ (ii) œ÷. ¾ÛàÁõ¦øÛÅÛ 
  (iii) …ÛÁõ.ïéõ. ¶ÛäïõÍÛÙ (iv) ¸Ûà. ÍÛé¾ýÛä…ÅÛÍÛ¶Û 

 (f) ¾Ûæ¦øà ¼Û˜Û©Û ïõÁõ¶ÛÛÁõ ¤éøïõ¶ÛàïõÅÛ ¸Ûó•ÛÜ©Û __________ ¬Ûà …ÛéÇ”ÛÛýÛ ™öé.  
  (i) Ü¼Û¶Û-©Û¤øÍ¬Û (ii) ©Û¤øÍ¬Û 
  (iii) …¾Ûæ©ÛÙ  (iv) ¾Ûæ©ÛÙ  

 (g) ¤éøïõ¶ÛàïõÅÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û¶ÛÛé ”ýÛÛÅÛ ÍÛÛíȩ́ Ûó¬Û¾Û ïõÛé̈ Ûé …Û¸ýÛÛé ?  
  (i) ÐéüÁõÛé¦øø  (ii) ÜÐîÍÛ 
  (iii) ïõÛÅ¦øÛéÁõ (iv) ¦øÛñ¾ÛÁõ  

 (h) ïõˆ ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ …ÛíéµÛÛéÜ•Ûïõ ¶ÛàÜ©Û …ÛýÛÛé›÷¶Û ©ÛÁõàïéõ …ÛéÇ”ÛÛýÛ ™öé ? 
  (i) ¸Ûó¬Û¾Û ýÛÛé›÷¶ÛÛø (ii) Ü³ù©ÛàýÛ ýÛÛé›÷¶ÛÛ 
  (iii) ©Ûè©ÛàýÛ ýÛÛé›÷¶ÛÛ (iv) ˜Û©Ûè¬ÛÙ ýÛÛé›÷¶ÛÛ  

 (i) WTO ¶Ûà Í¬ÛÛ¸Û¶ÛÛ ___________ ÈÛÌÛÙ¾ÛÛ× ¬Ûˆ. 
  (i) 1985ø  (ii) 1990 
  (iii) 1995  (iv) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá 

 (j) ÈÛÅ¦Ù ¼Ûêïõ ___________ ¾ÛÛ× Í¬ÛÛýÛà ™öé. 
  (i) ¶ýÛæýÛÛéïÙõ (ii) ¾Û¶ÛàÅÛÛ 
  (iii) œ÷¶ÛàÈÛÛ (iv) ÈÛÛñÉÛá•¤ø¶Û  

 (k) GC = S …é¤øÅÛé ÉÛä× ? 
  (i) ˆÜ˜™ö©Û ÈÛèÜ±ù þùÁõø (ii) ïäõþùÁõ©Ûà ÈÛèÜ±ù þùÁõ 
  (iii) ÈÛÛÍ©ÛÜÈÛïõ ÈÛèÜ±ù þùÁõ (iv) …Û¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá  

 (l) “¾Ûæ¦øà¶Ûä× ÍÛ×̃ ÛýÛ” ¸ÛäÍ©Ûïõ __________ ³ùÛÁõÛ ÅÛ”ÛÛýÛéÅÛ. 
  (i) ÐéüÁõÛé¦øø  (ii) ›Ûé¶Û ÁõÛé¼Ûà¶ÉÛ¶Û 
  (iii) ïõÛÅ¦øÛéÁõ (iv) ÜÐüîÍÛ 

 (m) “…ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶ÛÛé ¶ÛÈÛ-¸ÛóÜÉÛÌ¤ø ÜÍÛ±ùÛ×©Û” ¾Ûà¦ø ³ùÛÁõÛ ________ ÈÛÌÛÙ¾ÛÛ× ¸ÛóÜÍÛ±ù ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé. 
  (i) 1951  (ii) 1956 

  (iii) 1961  (iv) 1965  

 (n) Q = A(t) F(L,K) Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ¾ÛÛ× “A” ÉÛä× ÍÛæ̃ ÛÈÛé ™öé ? 
  (i) ïõÛýÛÙþù“Û©ÛÛ ¸ÛóÛ˜ÛÅÛø (ii) ¤éøïõ¶ÛàïõÅÛ ¸ÛóÛ˜ÛÅÛ 
  (iii) ¤éøïõ¶ÛàïõÅÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û¶ÛÛé …Û×ïõ  (iv) …Û¾ÛÛ×¶ÛÛ ¼ÛµÛÛ ›÷ 

_________________ 
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1. Explain the factors affecting economic growth in relation to Capital, Labour and 

Technology.  14 

               OR 
 Explain the need of Investment criteria in developing countries. 

 
2. Explain the growth model given by Mrs. John Robinson. 14 

             OR 
 Short notes : 

 (a) Micro-level Planning 

 (b) World Bank Policy for developing countries. 

 
3. Discuss the technical and non-technical change. 14 

        OR 
 Examine the importance of infrastructural development in developing countries. 

 
4. Write short notes on any two : 14 

 (a) Harrod-Domar Model of Economic growth 

 (b) Meade model of Economic growth 

 (c) Solow model of Economic growth 

 (d) Kaldor model of Economic growth 

 (e) Role of WTO in developing countries 

 (f) Rationale for Planning 

 

5. Select correct answers to the following : 14 

 (a) There is no differences between growth and development.  

   (i) Wrong (ii) Correct 

   (iii) No idea (iv) Growth includes development 

 (b) Golden age concept is given by ________. 

   (i) Harrod (ii) Domar 

   (iii) Mrs. John Robinson (iv) Schumpeter 
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 (c) ________ if G = Gw > Gn in Harrod Model. 

   (i) There is inflation 

   (ii) There is recession 

   (iii) There is full employment 

   (iv) There is full capacity utilization 

 (d) What happens if interest rate and income level is high ? 

   (i) Saving rate is more. (ii) Saving rate is zero. 

   (iii) Saving rate is less. (iv) Saving rate is negative. 

 (e) Rolling plan for under developed countries is suggested by ________ 

   (i) W.A. Lewis (ii) G. Myrdal 

   (iii) R.K. Nurksa (iv) P. Samuelson 

 (f) Capital saving technological progress is known as _________. 

   (i) Non-neutral (ii) Neutral 

   (iii) Disembodied  (iv) Embodied 

 (g) Concept of technical change firstly given by whom ? 

   (i) Harrod (ii) Hicks 

   (iii) Kaldor (iv) Domar 

 (h) Which Five Year Plan was known as Industrial Policy Plan ? 

   (i) First Plan (ii) Second Plan 

   (iii) Third Plan (iv) Fourth Plan 

 (i) WTO was established in the year ________. 

   (i) 1985 (ii) 1990 

   (iii) 1995 (iv) None of these 

 (j) World Bank is located at ________. 

   (i) New York (ii) Manila 

   (iii) Geneva (iv) Washington 

 (k) What is GC = S ? 

   (i) Warranted growth rate (ii) Natural growth rate 

   (iii) Actual growth rate (iv) None of these 

 (l) “The Accumulation of Capital” book is written by ________. 

   (i) Harrod (ii) John Robinson 

   (iii) Kaldor (iv) Hicks 

 (m) “A neo-classical theory of Economic growth” published by Meade in the year  

  (i) 1951 (ii) 1956 

  (iii) 1961 (iv) 1965 

 (n) In production function Q = A(t) F(L, K), what is “A” stand for ? 

  (i) Efficiency Parameter 

  (ii) Technical Parameter 

  (iii) Coefficient of technical change 

  (iv) All of these 

____________ 


